## CITY OF CLEARWATER ITB #11-21, VEHICLE UPFITTING SERVICES DUE DATE: DECEMBER 17, 2020; 10:00 AM BID TABULATION SUMMARY

BID TABULATION SUMMART	Enforc	ement One
A. Public Utilities Ford F-350	\$	10,688.48
B. Public Utilities Ford F-450	\$	7,016.51
C. Public Utilities Ford Transit Vans	\$	3,406.70
D. Public Utilities Ford Ranger Trucks	\$	6,223.80
E. Public Utilities Ford Explorer	\$	4,057.22
F. Clearwater Gas System Ford F-150/F-250 Trucks	\$	1,653.13
G. Clearwater Gas System Ford F-350/F-450 Trucks	\$	10,069.88
H. Clearwater Gas Distribution F-450 Trucks	\$	10,356.94
I. <u>Clearwater Gas Propane F-550 Trucks</u>	\$	17,515.44
J. Parks & Recreation Ford F-350 Trucks	\$	7,115.41
K. Parks & Recreation Ford F-150 Trucks	\$	5,651.93
L. Parks & Recreation Big Tex Trailer	\$	3,018.75
M. Parks & Recreation Polaris Ranger	\$	680.20
N. Building & Maintenance Ford Transit Vans	\$	1,746.80
O. Traffic Engineering Ford Transit Vans	\$	5,288.40
P. Traffic Engineering Ford F-350 Trucks	\$	5,223.03
Q. Stormwater Ford F150 Trucks	\$	2,972.60

## CITY OF CLEARWATER ITB #11-21, VEHICLE UPFITTING SERVICES DUE DATE: DECEMBER 17, 2020; 10:00 AM BID TABULATION

A. Public Utilities Ford F-350 service trucks to be upfitted as follows:		Enforce	ement One
Description	Qty.	Qty. Price	Line Total
Whelen Justice FDOT lightbar, fifty-six (56) inches	1	\$ 998.00	\$998.00
Whelen switch box, six (6) 25 amp SPST switches, lighted (replaces PCC6R)	1	\$ 103.36	\$103.36
Pull handles	1	\$ 69.30	\$69.30
Cargo securing straps	1	\$ 37.40	\$37.40
Cargo securing track	1	\$ 18.02	\$18.02
Cable step, nine (9) inches	2	\$ 91.12	\$182.24
Federal Signal reverse camera	1	\$ 447.08	\$447.08
North Star ATV Broad Cast Sprayer	1	\$ 208.98	\$208.98
Whelen Micro Pioneer LP Pedestal MT – Black – 12VDC	4	\$ 367.69	\$1,470.76
Whelen Dual SL Pioneer Bail MT – 12VDC	1	\$ 509.54	\$509.54
Whelen ION Light Head, split amber/white with black housing	4	\$ 80.19	\$320.76
Whelen Fluorent Plus LED compartment lights, sixty-three (63) inches non-frosted	4	\$ 237.01	\$948.04
Whelen Micron surface mount LED, black flange, split amber/white	6	\$ 69.00	\$414.00
QTM custom pipe rack with two (2) ratchet straps mounted on passenger side, eleven (11) inches long by twelve (12) feet high	1	\$ 2,156.00	\$2,156.00
QTM tube tool holder rack – twelve (12) positions	1	\$ 792.00	\$792.00
QTM five (5) gallon water cooler holder	1	\$ 231.00	\$231.00
QTM safety cone holder	1	\$ 220.00	\$220.00
QTM pipe vise mounted on rear bumper, includes RIGID vise	1	\$ 759.00	\$759.00
QTM PVC storage tube, six (6) inches in diameter by five (5) feet in length	1	\$ 264.00	\$264.00
QTM PVC storage tube, six (6) inches in diameter by six (6) feet in length	1	\$ 275.00	\$275.00
QTM three (3) pronged mount plate	1	\$ 132.00	\$132.00
QTM L iron trash can mount	1	\$ 132.00	\$132.00
	Fotal Cos	st for Group A:	\$10,688.48

B. Public Utilities Ford F-450 service trucks to be upfitted as follows:				
Description	Qty.	Q	ty. Price	Line Total
Whelen Justice FDOT lightbar fifty-six (56) inches T/A	1	\$	998.00	\$998.00
Whelen six (6) switch box, five (5) on/off, one (1) momentary, *wire installation switch to control patterns, switches 1-5 for light bar, hideaways, spotlights, *not using upfitter switches on truck	1	\$	103.36	\$103.36
Miller DC receptacle - red	2	\$	16.33	\$32.66
Miller DC receptacle - black	2	\$	16.33	\$32.66
Unity six (6) inch round chrome deck light	3	\$	183.99	\$551.97
Galvanized E-Track rail, five (5) inches by five (5) feet	1	\$	18.02	\$18.02
E-Track ratchet tie-down two (2) inches by twenty (20) feet	1	\$	37.84	\$37.84
Whelen Fluorent Plus LED compartment light, sixty-three (63) inches non-frosted	2	\$	237.01	\$474.02
North Star ATV Broad Cast Sprayer	1	\$	208.98	\$208.98
UWF forty-eight (48) inches long by twenty-four (24) inches wide by twenty (20) inches high, thirteen point three (13.3) cubic feet, chest style deep toolbox	1	\$	140.00	\$140.00
Three (3) inch round nerf bars - powder coated black (pair)	1	\$	140.00	\$140.00
Ten (10) hole tube tool holder	1	\$	660.00	\$660.00
QTM Safety cone holder	1	\$	192.50	\$192.50
QTM Pipe rack with tie down straps	1	\$ 2	2,156.00	\$2,156.00

QTM Six (6) inch PVC tube with cap, lid and mounting hardware	1	\$ 302.50	\$302.50
QTM Pipe vise mount with RIGID pipe vise	1	\$ 704.00	\$704.00
QTM Three (3) pronged steel plate	1	\$ 132.00	\$132.00
QTM two (2) inch L iron with three (3) inch steel plate	1	\$ 132.00	\$132.00
	Total Co:	st for Group B:	\$7,016.51

C. Public Utilities Ford Transit vans to be upfitted as follows:			
Description	Qty.	Qty. Price	Line Total
Adrian Steel 4318TH148 HVAC package (shelving package)	1	\$ 3,104.20	\$3,104.20
Roof mounted 6" PVC Pipe with end caps, 80" in total length. Front, forward facing cap fixed, back			
cap removable/accessible. Mounted on the drivers side of the vehicle. (This is for an Industrial		¢ 000 50	<b>#000 50</b>
Pretreatment specific application.)	I	\$ 302.50	\$302.50
*Error on Excel spreadsheet	Total Cos	st for Group C:	\$3,406.70

.

D. Public Utilities Ford Ranger trucks to be upfitted as follows:			
Description	Qty.	Qty. Price	Line Total
Ranger Design 3020-FTM contoured partition with safety glass	1	\$ 910.80	\$910.80
Ranger Design F316 service package	1	\$ 2,325.40	\$2,325.40
Remove - Ranger Design 7120 locker with top shelf	1	<mark>\$-</mark>	\$0.00
Ranger Design 5020 tool drawers mounted on front driver side	2	\$ 718.30	\$1,436.60
Ranger Design 5010 part slider drawers mounted on front driver side on top of 5020	2	\$ 341.00	\$682.00
Ranger Design 6063 paper holder mounted on front driver side	1	\$ 160.60	\$160.60
Ranger Design 1510-FTR3 aluminum ladder rack	1	\$ 708.40	\$708.40
*Error on Excel spreadsheet	Total Cos	st for Group D:	\$6,223.80

Description	Qty.	C	Qty. Price	Line Total
Whelen Justice FDOT lightbar fifty-six (56) inches T/A	1	\$	998.00	\$998.00
Whelen ION T-Series Linear Super-LED Amber/Clear	10	\$	80.19	\$801.90
Thor 1000w Modified Sine Wave Inverterr include TH001 remote, 10' 1/0 cable, 200a fuse and holder and isolator	1	\$	209.10	\$209.10
Whelen Bracket for Thin ION	2	\$	8.58	\$17.16
Pioneer Nano NP Series 6-LED with Bail Mount (white)	4	\$	154.44	\$617.76
Heavy duty cone holder 1/2" thick alum base plate	1	\$	330.00	\$330.00
E/Z Vault UP 45"w x 24"d x 8" H with 4" SUV Vault Basket	1	\$	1,083.30	\$1,083.30
	Total Co	st for	Group E:	\$4,057.22

F. Clearwater Gas System Ford F-150/F-250 trucks with eight (8) foot beds to be upfitted as follo	<u>ws</u> :			
Description	Qty.	Qty. I	Price	Line Total
Whelen Justice FDOT LED lightbar, fifty-six (56) inches, to include twelve (12) JDCA modules, JTACNTL Traffic Advisor with TACTLD1 controller	1	\$ 9	98.00	\$998.00
Whelen mounting kit	1	\$	-	\$0.00
UWS sixty-nine (69) inch deep crossover tool box	1	\$2	49.42	\$249.42
UWS aluminum truck tool box – standard tool box	1	\$2	65.71	\$265.71
Aries three (3) inch round side bars, black finish (pair)	1	\$ 1	40.00	\$140.00
	Total Co	st for Gr	oup F:	\$1,653.13

G. Clearwater Gas System Ford F-350/F-450 trucks with eleven (11) foot beds to be upfitted as follows:					
Description	Qty.	Qty. Price	Line Total		
Whelen Justice FDOT LED lightbar, fifty-six (56) inches, to include twelve (12) JDCA modules, JTACNTL Traffic Advisor with TACTLD1 controller, Lightbar Wizard	1	\$ 998.00	\$998.00		
Whelen mounting kit	1	\$-	\$0.00		
GoLight spotlight, permanent mount, white, wireless remote control	1	\$ 204.60	\$204.60		
Aries three (3) inch round side bars, black finish (pair)	1	\$ 140.00	\$140.00		
Topsider - K&W ninety-six (96) inches by twenty (20) inches Topsider-Up Swing/DL	1	\$ 1,072.50	\$1,072.50		
Aluminum pipe rack with four (4) rack straps, two (2) inch by two (2) inch by one-quarter (1/4) inch wall tube	1	\$ 2,310.00	\$2,310.00		
Seven (7) position aluminum tube holder	1	\$ 462.00	\$462.00		

Aluminum water cooler support	1	\$	231.00	\$231.00
Vise holder with RIGID brand vise	1	\$	759.00	\$759.00
Aluminum pipe rest	1	\$	165.00	\$165.00
PVC tube with aluminum cap and door, six (6) inch diameter by ten (10) feet long	1	\$	302.50	\$302.50
Steel step-up trailer hitch	1	\$	126.50	\$126.50
Ladder racks	6	\$	484.00	\$2,904.00
Cargo-securing horizontal track, five (5) feet long, galvanized steel	1	\$	18.20	\$18.20
Cargo-securing straps, ratchet tightening, two (2) inches wide by twenty (20) feet long, one- thousand (1,000) pound load limit, yellow	4	\$	37.84	\$151.36
Pull handle with unthreaded through holes, cast type 316 stainless steel, rectangular grip, polished, six and seven-eighths (6-7/8) inches center to center. To be left in tool bin for City driver	1	\$	66.22	\$66.22
Window tinting, to include standard window strip on front windshield	1	\$	159.00	\$159.00
*Error on Excel spreadsheet	Total Cos	t for	Group G:	\$10,069.88
H. Clearwater Gas Distribution F-450 trucks with 11 foot bed, no lift gate, to be upfitted as follows:				
	Qty.	C	Qty. Price	Line Total
Whelen Justice FDOT LED lightbar, fifty-six (56) inches, to include twelve (12) JDCA modules, JTACNTL Traffic Advisor with TACTLD1 controller, Lightbar Wizard	1	\$	998.00	\$998.00
Whelen mounting kit	1	\$	-	\$0.00
Whelen switch box 6 25amp SPST switches, lighted	1	\$	103.36	\$103.36
Whelen pioneer micro low profile pedestal/swivel mpount, black houseing w/ chrome cover and on/off switch. one in rear, one in front	1	\$	367.69	\$367.69
Aries three inch round side bars, cab step	1	\$	140.00	\$140.00
GoLight spotlight, permanent mount, white, wireless remote control	1	\$	204.60	\$204.60
QTM Generator mount, locking	1	\$	451.00	\$451.00
QTM PE restraint	1	\$	242.00	\$242.00
QTM 4 position bottle holder	1	\$	220.00	\$220.00
QTM Traffic cone holder, hinged	1	\$	330.00	\$330.00
QTM Aluminum pipe rack w/spotlight mount and 3 rack straps with additional upper side rails full length.	1	\$	2,959.00	\$2,959.00
QTM Tube tool holder rack- 14 position	1	\$	924.00	\$924.00
QTM 5 gallon water cooler holder	1	\$	231.00	\$231.00
QTM Pipe vise mounted on rear bumper, includes Ridgid pipe vise	1	\$	759.00	\$759.00
QTM Aluminum pipe rest	1	\$	165.00	\$165.00
North Star ATV Broad Cast Sprayer tank w/ mounting plate	1	\$	241.99	\$241.99
Topsider - K&W ninety-six (96) inches by twenty (20) inches Topsider-Up Swing/DL	1	\$	1,072.50	\$1,072.50
Custom 48" upswing tool box mounted on driver side	1	\$	738.80	\$738.80
Window tinting, to include standard window strip on front windshield	1	\$	159.00	\$159.00
Wires, loom, connectors, to include bolts, nuts and washers	1	\$	50.00	\$50.00
	Total Cos	st for	Group H:	\$10,356.94
I. Clearwater Gas Propane F-550 truck with custom bed and lift gate to be upfitted as follows:				
Description	Qty.	C	Qty. Price	Line Total
Whelen Justice FDOT LED lightbar, fifty-six (56) inches, to include twelve (12) JDCA modules, JTACNTL Traffic Advisor with TACTLD1 controller, Lightbar Wizard	1	\$	998.00	\$998.00
Whelen mounting kit	1	\$	-	\$0.00
Whelen switch box 6 25amp SPST switches_lighted	1	\$	103.36	\$103.36

		φ 000.00	<b>\$000100</b>
Whelen mounting kit	1	\$-	\$0.00
Whelen switch box 6 25amp SPST switches, lighted	1	\$ 103.36	\$103.36
Whelen pioneer micro low profile pedestal/swivel mpount, black houseing w/ chrome cover and on/off switch.	1	\$ 367.69	\$367.69
Dull 304 stanless steel, 8" center to center width	1	\$ 27.17	\$27.17
Horizontal track, gray powder coated 10ft long	1	\$ 37.27	\$37.27
Vertical track, gray poder coated, 5ft long	1	\$ 18.02	\$18.02
QTM Steel tread plate deck welded in place3/16 thick black	1	\$ 1,892.00	\$1,892.00
QTM Driver side dolly mount for green tank cart	1	\$ 687.50	\$687.50
QTM Headache rack with bin	1	\$ 2,381.50	\$2,381.50

QTM Passenger Generator guard	1	\$ 352.00	\$352.00
QTM passenger side Generator mount, locking (steel)	1	\$ 451.00	\$451.00
QTM Tube tool holder rack- 12 position	1	\$ 792.00	\$792.00
QTM 5 gallon water cooler holder- 2" space tube	1	\$ 275.00	\$275.00
QTM Ridgid BC410 Pipe vise with two hitch reciever mounts Fwd Side	1	\$ 764.50	\$764.50
QTM 6" pipe PVC storage tube with cap and door 10ft long	1	\$ 302.50	\$302.50
QTM PVC tube mounts and end section	1	\$ 605.00	\$605.00
QTM Four position 8" PVC Pipe storage tubes 30" long	1	\$ 742.50	\$742.50
QTM four position spray bottle holder stainless	1	\$ 220.00	\$220.00
QTM tray approx 30" x 48" x 3" deep with dividers	1	\$ 440.00	\$440.00
QTM blank sign panels 10 11/16 square 20 ga	1	\$ 16.50	\$16.50
Custom tool box special order- driver side 1112x32x17	1	\$ 2,431.00	\$2,431.00
Custom tool box special order- passenger side 98x32x17	1	\$ 2,321.00	\$2,321.00
Westin automotive brute 80-UB36-20TD pro series contractor under body 36" x 20" polished aluminum tool box with top drawer	1	\$ 426.15	\$426.15
Westin automotive Brute 80-UB60-20TD pro series contractor under body 60" x 20" poloished aluminum tool box with top drawer	1	\$ 654.78	\$654.78
Window tinting, to include standard window strip on front windshield	1	\$ 159.00	\$159.00
Wires, loom, connectors, to include bolts, nuts and washers	1	\$ 50.00	\$50.00
	Total Co	ost for Group I:	\$17,515.44

J. Parks & Recreation Ford F-350 trucks to be upfitted as follows:			
Description	Qty.	Qty. Price	Line Total
Whelen Justice FDOT LED lightbar, fifty-six (56) inches, to include twelve (12) JDCA modules, JTACNTL Traffic Advisor with TACTLD1 controller, Lightbar Wizard	1	\$ 998.00	\$998.00
Whelen Micron surface-mount LED, black flange, split amber/white	2	\$ 79.00	\$158.00
Whelen strobe light sets, one (1)set front and one (1) set rear, near truck hazard lights	1	\$ 216.83	\$216.83
Whelen Pioneer SlimLine Series single panel, low-profile pedestal/swivel-mount, white housing	6	\$ 377.52	\$2,265.12
Whelen switch box, six (6) 25 amp SPST switches, lighted (replaces PCC6R)	1	\$ 103.36	\$103.36
Power inverter (to power tools, lights, etc)	1	\$ 209.10	\$209.10
Dump switch extension (to raise and lower truck bed from within cabin)	1	\$ 250.00	\$250.00
Pipe rack, ten (10) feet long with tie down straps	1	\$ 2,156.00	\$2,156.00
Eight (8) hole tube tool holder, for shovels and rakes	1	\$ 528.00	\$528.00
Aluminum water cooler support	1	\$ 231.00	\$231.00
	Total Co	ost for Group J:	\$7,115.41

K. Parks & Recreation Ford F-150 trucks to be upfitted as follows:			
Description	Qty.	Qty. Price	Line Total
Whelen Justice FDOT LED lightbar, fifty-six (56) inches, to include twelve (12) JDCA modules,			
JTACNTL Traffic Advisor with TACTLD1 controller, Lightbar Wizard	1	\$ 998.00	\$998.00
GoLight spotlight, permanent mount, white, wireless remote control	1	\$ 204.60	\$204.60
Whelen strobe light sets, one (1)set front and one (1) set rear, near truck hazard lights	1	\$ 216.83	\$216.83
Whelen Pioneer SlimLine SuperLED worklight, dual, twelve (12) VDC, black, with bail bracket	2	\$ 377.52	\$755.04
Whelen switch box, six (6) 25 amp SPST switches, lighted (replaces PCC6R)	1	\$ 103.36	\$103.36
Power inverter (to power tools, lights, etc)	1	\$ 209.10	\$209.10
Dump switch extension (to raise and lower truck bed from within cabin)	1	\$ 250.00	\$250.00
Pipe rack, ten (10) feet long with tie down straps	1	\$ 2,156.00	\$2,156.00
Eight (8) hole tube tool holder, for shovels and rakes	1	\$ 528.00	\$528.00
Aluminum water cooler support	1	\$ 231.00	\$231.00
	Total Cos	st for Group K:	\$5,651.93

L. Parks & Recreation Big Tex Trailer			
Description	Qty.	Qty. Price	Line Total
Toolbox with Rake Holders and Hinged Locking Door	1	\$ 2,760.00	\$2,760.00
Platform Storage Tray for Front of Trailer	1	\$ 258.75	\$258.75
	Total Co	st for Group L:	\$3,018.75

M. Parks & Recreation Polaris Ranger					
Description	Qty.	Qty. Price		Qty. Price Line T	
Whelen waterproof 100 watt remote sired amplifier	1	\$	274.20	\$	274.20
Full Function Control Head with waterproof switches and mircrophone jack, 20' cable, bail mount					
(marine)	1	\$	327.00	\$	327.00
Whelen mircrophone for HD WS321 Siren	1	\$	79.00	\$	79.00
· · · · · · · · · · · · · · · · · · ·	Total Cos	t for	Group M:	\$	680.20

Description	Qty.	c	Qty. Price	Line Total
Ranger 20" x 62" x 96" Shelving	1	\$	1,746.80	\$ 1,746.8
Ranger 20" x 36" x 62" Shelving	1	\$	-	\$ -
Ranger Double Sided Max Rack Aluminum 2 Bar	1	\$	-	\$ -
Straight Van Partition with Perforated Window no Access	1	\$	-	\$ -
Ranger Parts Keeper w/ 8 Carry Cases and 2 Shelves	1	\$	-	\$ -
Ranger 8" Swivel hook painted yellow 4" opening	1	\$	-	\$ -
Ranger Workbench for Vans w/Hardwood Top 18x48x40	1	\$	-	\$ -

O. Traffic Engineering Ford Transit Van to be upfitted as follows:							
Description	Qty.	Qty. Price		Qty. Price		Line Total	
Whelen Justice DOT LED 56" inc 12 JDCA modules/JTACNTL Traffic Advisor w/TACTDLD1	1						
controller		\$	998.00	\$	998.00		
Whelen Dominator Mountin Bracket 'L' for D2 and D4	1	\$	12.83	\$	12.83		
8 Lamp TIR3 Super LED Traffic Advisor 30.36" long Less Control Head requires eight D*	1	\$	372.61	\$	372.61		
Whelen Thin ION amber/white split	6	\$	80.19	\$	481.14		
Split Color with Clear Outer Lens, Side-by-Side, Amber/White Only. Internal Flasher with Flash	2						
Patterns and Synchronize Feature		\$	135.91	\$	271.82		
Ranger Design Aluminum Shelving Unit	3	\$	827.00	\$	2,481.00		
QTM Rear Window Guard, Custom Fabrication from Aluminum	1	\$	671.00	\$	671.00		
	Total Cos	t for	Group O:	\$	5,288.40		

P. Traffic Engineering Ford F-350 Truck to be upfitted as follows:				
Description	Qty.	(	Qty. Price	Line Total
Whelen Justice FDOT lightbar, fifty-six (56) inches	1	\$	998.00	\$ 998.00
QTM custom pipe rack with one (1) rack strap on each side	1	\$	2,980.00	\$ 2,980.00
Whelen Pioneer Micro Low Profile pedestal/swival mount, Black Housing with Chrome cover and on/off switch	2	\$	367.69	\$ 735.38
Whelen Pioneer Slimline Dual Panel, Bail/Stud Mount, White Housing	1	\$	509.65	\$ 509.65
	Total Cos	st for	Group P:	\$ 5,223.03

Q. Stormwater Ford F150 Truck to be upfitted as follows:													
Description	Qty.	C	Qty. Price		Qty. Price		Qty. Price		Qty. Price		Qty. Price L		Line Total
Whelen Justice DOT LED 56" inc 12 JDCA modules/JTACNTL Traffic Advisor w/TACTDLD1													
controller	1	\$	998.00	\$	998.00								
DECKED-DF4 System Locks, Dividers (set of 4) Tracks	1	\$	1,099.00	\$	1,099.00								
Headache Rack/Rear Window Guard with Go Light Mount	1	\$	671.00	\$	671.00								
GoLight Stryker Spotlight (permanent mount, white with wireless remote	1	\$	204.60	\$	204.60								
	Total Cos	st for	Group Q:	\$	2,972.60								